





# Weaned Graded Feeder Calf Sale

# Thursday, August 15, 2024 at 6:30 pm

## Stanly County Livestock Market, Norwood, NC 1,250 graded calves + 45 sort offs to sell

### Terms & Conditions of Sale:

- Calves will be sold in uniform groups according to breed, grade, sex, and weight and may be purchased by the pen or pen split. Buyers may split a pen if the total pen count is over 20 head. Buyer may take any head count of 10 or more from the pen provided not less than ten are left in the pen after the cut.
- 2. Auctioneer will settle all disputed bids.
- 3. All cattle belong to producer until sold; then they immediately become the property of the buyer. Hay and water are available to cattle prior to sale and for 24 hours after the sale at no additional expense. A charge of \$1 per head per day will be added for all cattle not moved from the barn after the first 24 hours following the sale.
- 4. All buyers must establish identification with livestock market operator prior to sale.
- 5. Terms of sale are CASH. Settle with staff in office immediately after the sale.
- 6. Cattle must be settled for before being loaded. Personnel will be available to take care of cattle left in the barn overnight. Feed and water will be furnished during this time.
- 7. Assistance in obtaining transportation can be given if needed.
- 8. Guaranteed open heifers that are found to be bred within 60 days of the sale are eligible for a \$200/head refund. The seller will be charged \$200/head for each bred heifer. Buyers must submit appropriate documentation to the office within 60 days of the sale to receive the credit.
- 9. Any departure from this procedure will be announced from the auction stand. All announcements made from the auction box will take precedence over printed matter herein.

### Sale Requirements:

- Steers or heifer calves. No bulls are allowed. Steers must be properly castrated and healed.
- Calves must not have horns either polled or properly dehorned (total or tipped) and healed.
- Producer must submit a completed and signed "Weaned Sale Health Record Form."
- All calves have yellow ear ID tags, no back tags or farm tags.
- Calves are weaned at least 60+ days and two rounds of vaccinations.
  - Two doses of a Respiratory Modified-Live Viral (MLV) vaccine for IBR-BVD-P13-BRSV
  - o At least one dose of Mannheimia Haemolytica (Pasteurella); can be given with MLV vaccine
  - $\circ$   $\;$  Two doses of a Clostridial/Blackleg vaccine and at least one dose of Haemophilus Somnus  $\;$
  - $\circ$   $\;$  At least one round of parasite control with a recognized dewormer
  - Implants are optional
  - Vaccinations must be given between 21 days and 4 months prior to the sale. Final vaccines must be given between 21 days and 60 days prior to the sale.

#### Grading Descriptions:

Frame and Muscle

- M Medium or Large Frame and #1 or #1.5 muscling
- **T** Medium or Large Frame and #2 muscling
- **S** Small Frame and #1 muscling

### **Breed Characteristics**

- A and AH Black/BWF, Majority Angus influenced
- **EX** Blk/BWF, Red/RWF, Ch-X/Gray. Majority continental influence (no pink nose Charolais or mixed colors)
- SC Pink-nosed Charolais and spotted Simmentals
- **OX** Crossbred cattle with odd or mixed colors
- **BR** Blk/BWF, Red/RWF, Gray. Brangus or Brahman influenced cattle.
- **H** Hereford

Examples: **M5A** – M/L Frame, #1/1.5 muscling, 5-weight steer, Angus-based **T40EX** – M/L Frame, #2 muscling, 4-weight heifer, Continental-based

More sale information at <u>www.norwoodfeedercalf.com</u>

# Augsut 16, 2024 • Sale Time – 6:30 pm

# Conference Call In Number: Passcode:

# Watch online at

www.norwoodstockyardnc.com

Please call any of the numbers below for your buyer number prior to joining the conference call.

Office: 704-474-7681 Marcus Harward: 704-322-0840 Brooke Harward: 704-322-9770

### STANLY COUNTY LIVESTOCK MARKET

#### Weaned Graded Feeder Calf Sale - August 15, 2024

704-474-7681 www.NorwoodFeederCalf.com www.NorwoodStockyardNC.com

**SALE REQUIREMENTS:** Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

\*\*\*\*\*\*\*\*\*\*\*STEERS\*\*\*\*\*\*\*\*

			OTLENG				
PEN	COLOR	HD	AVG	RANGE	TOTAL WT	PRICE	BUYER
M3A		1	350		350	\$300.00	
T3A		2	365		730	\$301.00	
S3A		1	385		385	\$300.00	
M4A		40	488		19,505	\$299.50	
M4EX	BLK/BWF	1	475		475	\$295.00	
T4A		22	451		9,925	\$297.00	
T4EX	2 RED	2	488		975	\$280.00	
S4A		8	465		3,720	\$260.00	
M5A & M5AH		89	567		50,490	\$284.00	
M5EX	3 BLK, 3 CHX, 4 RED	10	549		5,490	\$269.00	
M5BR		2	553		1,105	\$253.00	
T5A		43	540		23,230	\$274.00	
T5EX	1 CHX, 2 RED	3	552		1,655	\$267.00	
T5BR		2	565		1,130	\$234.00	
S5A		12	550		6,595	\$235.00	
S5BR		1	550		550	\$238.00	
M6A		93	623		57,895	\$269.50	
M6AH		105	672		70,610	\$264.50	
M6EX	10 BLK, 5 CHX, 7 RED	22	646		14,220	\$255.00	
M6BR	TO BER, O OTIX, T REB	1	650		650	\$254.00	
T6A		24	645		15,480	\$256.25	
T6EX	1 BLK, 2 CHX	3	622		1,865	\$259.50	
S6A		5	646		3,230	\$220.00	
M7A		73	718		52,415	\$258.25	
M7AH		61	773		47,150	\$246.75	
M7EX	4 BLK, 1 CHX, 1 RED	7	735		5,145	\$241.00	
M7BR	4 DER, T CHX, TRED	1	705		705	\$238.00	
T7A		3	728		2,185	\$233.00	
T7EX	1 RED	1	755		755	\$237.00	
S7A	INCO	2	745		1,490	\$206.00	
M8A		34	833		28,320	\$232.50	
M8EX		6	834		5,005	\$232.00	
M8BR	1 BLK, 1 CHX, 3 RED	1	890		890	\$228.00	
T8A		3	828		2,485	\$231.00	
T8EX	CH-X	1	805		805	\$236.00	
						\$208.00	
S8A MOA		2	863		1,725	\$208.00	
M9A		9	951		8,555	\$231.00	
M9EX	RED	1	905		905	\$231.00	
M10A		4	1033		4,130		
M10EX	1 CHX, 1 RED	2	1010		2,020	\$209.00	
S10EX		1	1035		1,035	\$200.00	

### STANLY COUNTY LIVESTOCK MARKET

#### Weaned Graded Feeder Calf Sale - August 15, 2024

704-474-7681 www.NorwoodFeederCalf.com www.NorwoodStockyardNC.com

**SALE REQUIREMENTS:** Weaned 60+ days, double vaccinated (MLV 2x, Pasteureulla 1x, Blackleg 2x, dewormer), no back tags (ear tags only). Heifers guaranteed open - to receive credit for a bred heifer we must receive documentation within 60 days of the sale.

#### 

PEN	COLOR	HD	AVG	RANGE	TOTAL WT	PRICE	BUYER
M30A		3	372		1,115	\$288.00	
T30A		4	373		1,490	\$288.00	
M40A		42	461		19,365	\$264.50	
M40EX	CH-X	1	465		465	\$262.00	
T40A		28	446		12,480	\$270.50	
T40EX	3 BLK/BWF	3	477		1,430	\$240.00	
T40H		2	465		930	\$192.00	
T40OX		1	465		465	\$190.00	
S40A		8	450		3,600	\$230.00	
S40EX	CH-X	1	440		440	\$215.00	
M50A		150	554		83,030	\$260.00	Split pen
						\$255.50	\$258.26
M50EX	4 BLK, 1 CHX, 3 RED	8	558		4,460	\$246.00	
M50SC		1	590		590	\$220.00	
M50BR		1	515		515	\$200.00	
T50A		17	548		9,320	\$252.00	
T50EX	3 BLK	3	558		1,675	\$242.00	
S50A		6	542		3,250	\$214.00	
S50OX		1	560		560	\$170.00	
M60A & M60AH		164	640		105,035	\$242.00	Split pen
						\$240.50	\$241.25
M60EX	3 BLK, 3 CHX, 2 RED	8	651		5,205	\$230.00	
T60A		5	625		3,125	\$211.00	
S60A		3	657		1,970	\$180.00	
M70A		64	740		47,365	\$228.00	
M70EX	2 BLK, 1 RED	3	755		2,265	\$225.00	
T70A		2	725		1,450	\$215.00	
S70A		5	741		3,705	\$197.00	-
M80A		14	834		11,675	\$224.50	-
M80EX	CH-X	1	820		820	\$227.00	
M80BR		1	855		855	\$211.00	
M90A		1	905		905	\$215.00	
T90A		1	925		925	\$175.00	
						<u> </u>	

330,480